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, How much interest is earned in one year on $4,800at 2 3.4%?

A. $33.00
B. $50.00
C. $66.00
D. $103.00
E. $132.00

Answer: E

Explanation:
$4,800 is four times as much as $1,200 and, therefore, earns four times as much interest. 4 × $33.00 = $132.00.

Question: 81

, How many students are in grade 5?

A. 12
B. 63
C. 87
D. 90
E. 150

Answer: D

Question: 80



Explanation:
The school has 750 students and 12% of them are in grade 5. 12% of 750 = .12 × 750 = 90.

Question: 82

, The total number of students in grades 1 and 3 isthe same as the total number of students in whichof the following grades?

A. 2 and 7
B. 4, 7, and 8
C. 4, 5, and 7
D. 2 and 6
E. 5 and 6

Answer: D

Explanation:
Sixteen percent of the students are in grade 1, and 12% of the students are in grade 3. Therefore, 16% + 12% = 28% of the
students are in grades 1 and 3. For choice A you need to add the percentages for grades 2 and 7: 14% + 12% = 26%. For choice
B you need to add the percentages for grades 4, 7, and 8: 10% + 12% + 10% = 32%. For choice C you need to add the
percentages for grades 4, 5 and 7: 10% + 12% + 12% = 34%. For choice D you need to add the percentages for grades 2 and 6:
14% + 14% = 28%. This is the correct answer.

Question: 83



, How many more students are in grade 2 than ingrade 8?

Answer: C

Explanation:
The school has 750 students and 14% of them are in grade 2. 14% of 750 = .14 × 750 = 105. Ten percent of the students are in
grade 8. 10% of 750 = .10 × 750 = 75. To determine how many more students are in grade 2, subtract: 105 - 75 = 30.

Question: 84

, How many students are in grades 5 and 6combined?

A. 195
B. 260
C. 305
D. 350
E. 375

Answer: A

Explanation:
Twelve percent of students are in grade 5 and 14% of students are in grade 6. 12% + 14% = 26%. Because 750 students are in
the school, we need to calculate 26% of 750 = .26 × 750 = 195.



Question: 85

, If 30 students in grade 1 transfer to a differentschool and no other students enter or leave any ofthe other grades, what is the
new percent ofstudents in grade 3?

A. 9%
B. 9.5%
C. 10%
D. 12%
E. 12.5%

Answer: E

Explanation:
The school has 750 students, and 12% of them are in grade 3. 12% of 750 = .12 × 750 = 90. After 30 students leave the school,
750 - 30 = 720 students remain. We need to determine what percent 90 is of 720: 90 ÷ 720 = .125 = 12.5%.




